COPYRIGHT RESERVED PAT<Ex0 (2)

2022

Time : 3 hours
Full Marks : 100

Candidates are required to give their answers n

their own words as far as practicable.
qeteireff 7emeg oa Tt # # G &/
The figures in the margin indicate full marks.
F717 & i QO & w6/
] | Answer all sections as directed.
fgargare quft qust & I g/
Section-A

WUg-3f

(Long answer type questions)
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Answey any foyy questions of the following :
20%4=80

ﬁm@‘a Y waﬂmﬁm% :

- TR AR g i ot e a1 e A

 gany)

Discuss any foyr sampling methods. Also state

advantages of each.

- SUNIET UAER ¥ e F BTG DI B

I/ Y| g frw yHR IuHiedl aeR b

TUTTaTe e Yo f guR 8 ?

Explain the ordinal approach to the study

of consumer behaviour. In what way is it an

improvement over cordinal approach ?

. T el B 1 g 2 e @t vl &
HMUR W ST Nfdes Heamr 3 g &

T Bl 8 7

What is Social Welfare function ? Based on

Bergson Criterion, how is the ‘point of bliss’

derived.
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. fivee wvea & 5 A Rigia @ 7=l 3

T A € 7
Discuss Milton Friedman’s theory of demand for

money. What are its nuances ?

. Ry amR @1eT & PR AmEY FuRa A F

& ! o yer wifad e 2 -
How has World Trade Organization (WTO)
Agreement on Agriculture’ (AOA) impacted

agriculture sector in India.

. U T YRA GRT AT T S @ AR ey

gaferofta weree B et o3

Discuss four important environmental issues

faced by India at the moment.

. wﬁWﬁw%Wwﬁw

BT STIRTT | 5 7 SR AR 31 3 2
Highlight the important chaning trends in

demography of India. What opportunities does

it create ?

B609/37/21 (3) (Turn Over)



o ‘T“ —

8. T MR & Mgy fapon g T 1 &N 87
S WA F URe i} qre, R wd arens @
YEifra B
Does India have the potential to become a global

manufacturing hub? Outline India's strengths,

opportunities and constraints in this regard.
Section—B
US4
(Objective Type Questions)
(@8 W)
9. Choose the correct option from each question :
' 2x10=20

T gy @ 9l e BT 9g7 Bifi

(i) gﬂﬁaﬁ?wmmaafamqwav‘ruwﬁ

g:

Which of the following is not a characteristic

of consumer indifference curve :
(a) 9P GId BUTHAD gt e
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It has a negative slope
(b) VTG P TGeht &1
Increasing marginal rate of substitution
() @ SR TP T g Bl HIC THd
g
Two indifference curve can cut each
other
@) (b)Td () &l
(i) FERfET & ¥ o4 gf s s #t
RS
Which of the following does not constitute
a condition for perfectly competitive
market ? A
(a) Shell TF fasharadl B S T
Large number of buyers and sellers
(b) THXY IH
Homogenous commodities

(¢ fawa<rma

Selling cost
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(@) IO 3} Ryt 31 70 T
Perfect knoWledgeofmarket condition
(i) SRy > i e ¥ R
TS B ey 3 afz ¥ 2 P
¥ e P e 27
Demographic  dividend can lead to
economic growth it 3 country invests in
which of the following ?
(@) fam
Education
(b) B e
Skill development
(0 SrfeTaRi
Economy
(@) FHEN
All of these
(v 5 3 ¥ e RIS 1 SR Had
dqeTR?
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v)

B609/37/21 0

For which country the base of the
population pyramid is the widest ?
(a) T T IARDT

United States of America
(b) =M

China
(€ HRd

India
(d) TIHRE

Indonesia
{5 srfarelt & oER B sawmE
ST 1R T 4 BRA Tl AToY SGed & fag
TH U HRA 1t B} WU HRA BT HR
TG PR S ?
According to which economist, a change
should be made if the loosers could not

afford to compensate the gainers for

chaning it back ?
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@ +02
b) -0.2
© -2
d) -0.8
i) @7 a7 P HgER e snfommen &
Py fpam PR BT 8 7
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@) iy
Scitovsky
b) TTEx
Hicks-Kaldor
© =
Bergson
@) FHIETE
None of these
S TF Qogp” 3 G H B G
Bz
What is the price elasticity of demand for

demand curve @ =aP?

B609/37/21 9)

According to accélerator theory investment
in an economy depends upon ?
@ gadmd e
Change in 29gregate demand
(o) Fa @7 IREd

Change in 2ggregate income
(c) <mH Ed q’f?a?h

Change in profit
(d) Fad (a) T (b)

Only (a) and (b)

wii) FaRT f I sR aad ee s E5as =

TEfma e
Which of the following is included in
indicators of sustainable development ?
() URifoF Wram

Ecological indicators

b) N Gbas

Economic indicators
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aE ¥ T S

© SR o e A
Quality of jife/dignity/status
(@) HI (@) wd ()

Only (a) and (b)
VT Se i e Fafpad

afta g 2
The Pradhanmantri Jan Dhan Yojana 15

related to which of the following ?

@@ faia e CPE e CEILED afdm

Financial inclusion/universal banking

(b) T 1 aga /AR o
Promoting savings/government
remittance

(¢ oftaAdim
Life Insurance

@ s

All of these

(Contd)

(x)
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76 2011-12 3 FTHA T HRA BT FHT 9L
Ja @ 2022-23 % forg fen oA
ez man 8 7
For 2022-23 the gross domestic product of
India at 2011-12 prices has been estimated
to be ?
(a) @AY 170 ARG HUS

Approximately 170 lakh crores
(b) ST 160 ARG HIS

Approximately 160 lakh crores
(© TIHT 150G HIS

Approximately 150 lakh crores
(d) T 200 TRE HAS

Approximately 200 lakh crores

(P-300)
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